~1072

e c
= 8
o ©
< [$]
© -3
10
1073
10™
° PP I P T T P ATHE Ve
5 1 S 12f
0.9 L1
N | SRR TR R ER TR PR TRREE T T T
10 1 0 02 103 10 1 10 02 103
- (PCA t% beamling p, (PCA t% beamline
—— DM UI TTat_Ste] J.LUJ.UUU Etaiptto2p0
= R g HistRl cdheioas
—— BoMH 000 et B
—— DOQMT] p ate step &1101 00_etalp6to2p0
1] I T R S €
e )
'c} SRR EE R LR L ERLLL R L RRELIRALS -
2 L
5 ]

1072

o RS 1
I d I :
[ad [ad
:— 0.5 r
.8'_1 : > 3 1 : 2 3
10 1 TPl[g)T (PCA f%)obeamlinéf) 10 1 TPl[g)T (PCA f%)obeamlinéf)
" 1 o
L I
[t |-
o
Q e
5
E
107+
O 1.0 L L II““I L L II““I L S “II I Lt L
3 1
12
1 <ol
0.95

-1 ; : : 2 3
10 L TPlpg)T (PCA tloobeamlin:eL)O



	Contents
	Page 1


